
11.1) Vectors



Worked example Your turn

𝑃𝑄𝑅𝑆 is a parallelogram.
𝑁 is the point on 𝑆𝑄 such that 𝑆𝑁:𝑁𝑄 = 3: 4

𝑃𝑄 = 𝒃 and 𝑃𝑆 = 𝒂

Express 𝑁𝑅 in terms of 𝒂 and 𝒃

𝑃𝑄𝑅𝑆 is a parallelogram.
𝑁 is the point on 𝑆𝑄 such that 𝑆𝑁:𝑁𝑄 = 3: 2

𝑃𝑄 = 𝒂 and 𝑃𝑆 = 𝒃

Express 𝑁𝑅 in terms of 𝒂 and 𝒃
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Worked example Your turn

𝑂𝐴𝐵 is a triangle.

𝑂𝐴 = 𝒃 and 𝑂𝐵 = 𝒂
𝑃 is the point on 𝐴𝐵 such that 𝐴𝑃: 𝑃𝐵 = 2: 3.

Find 𝑂𝑃 in terms of 𝒂 and 𝒃

𝑂𝐴𝐵 is a triangle.

𝑂𝐴 = 𝒂 and 𝑂𝐵 = 𝒃
𝑃 is the point on 𝐴𝐵 such that 𝐴𝑃: 𝑃𝐵 = 3: 1.

Find 𝑂𝑃 in terms of 𝒂 and 𝒃
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Worked example Your turn

Show that the vectors are parallel:
3𝒂 + 4𝒃 and 15𝒂 + 20𝒃

3𝒂 + 4𝒃 and −0.75𝒂 − 𝒃

Show that the vectors are parallel:
6𝒂 + 8𝒃 and 9𝒂 + 12𝒃

9𝒂 + 12𝒃 =
3

2
(6𝒂 + 8𝒃)


